Asses your Chess.
Anand v Rogers 1990 Answers
	Move Number
	Prediction
	Points

	11
	
	c4=5, Na3=1, Bf4=1, Bxh6=1, Nbd2=1

	12
	
	Na3=3, Bxh6=2,

	13
	
	Be4=5, Nc2=2

	14
	
	Nc2=2

	15
	
	Bf4=2, b4=5, 

	16
	
	b4=3

	17
	
	Bg3=1

	18
	
	Nd2=1

	19
	
	a4=4, bxc5=2

	20
	
	a5=1

	21
	
	Nxd4=2, c5=5, 

	22
	
	N4b3=2

	23
	
	Nxc5=1

	24
	
	Bc2=4,Rxh4=2, 

	25
	
	Ne4=2 (Bxa4= -5)

	26
	
	Bxa4=1

	27
	
	Qc2=2

	28
	
	c5=3

	29
	
	Bb3=1, Rac1=1

	30
	
	Rac1=3

	31
	
	Ba4=2

	32
	
	Nd6+=3

	33
	
	cxd6=1

	34
	
	Rxc2+=1

	35
	
	Bb3=1

	36
	
	Rxe5=3
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